EB-2022-0200: 1: Dwayne Quinn

COST CLAIM NUMBER

SUBMISSION DEADLINE DATE

CLAIM STATUS

1489

July 12, 2023

Approved by Finance

EB#

OTHER EB#S

PHASE #*

EB-2022-0200: Rates: Distribution: Enbridge Gas

Inc.

INTERVENOR

Quinn, Dwayne; +1 (519) 500-1022

drquinn@rogers.com

INTERVENOR COMPANY* Federation of Rental-housing

Full Registrant

Providers of Ontario, Toronto:

Cooperative

INTERVENOR TYPE

HST RATE ONTARIO

13.00

New

Nο

EXCHANGE RATE

COUNTRY

HST NUMBER

LATE SUBMISSION ALLOWED **EXTENSION DEADLINE DATE**

82029 2415 RT 0001 No

PARTICIPANTS

Participant Total (\$) Claim Total Non-Filing Participant First, Last Name **Filing Participant Status** Hours 225,418.05 530.50 Quinn, Dwayne; +1 (519) Submitted

500-1022

drquinn@rogers.com

ATTACHMENTS

Document

Import Message

Attachment

Type

FRPO EB-2022-0200 Cost Claim 071120231620.pdf

TOTAL LEGAL/CONSULTANT/OTHER FEES

175.065.00

TOTAL DISBURSEMENTS

TOTAL HST

24,420.00 25,933.05

TOTAL CLAIM

225.418.05

TOTAL AMOUNT AWARDED

TOTAL HOURS CLAIMED

530.50

TOTAL HOURS DISALLOWED

REASON FOR DISALLOWANCE **REASON FOR DISALLOWANCE - 2** **REASON FOR DISALLOWANCE - 3**

MAKE CHEQUE PAYABLE TO

FEDERATION OF RENTAL-HOUSING PROVIDERS OF ONTARIO

SEND PAYMENT TO ADDRESS

20 Upjohn Rd, Suite 105

Toronto, ON M3B 2V9

ATTENTION

MS. LAURIE COOPER

SUBMIT SECTION

I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY DWAYNE R QUINN DATE SUBMITTED July 11, 2023 **CASE**

EB-2022-0200: Rates:

Distribution: Enbridge Gas Inc.

COST CLAIM

EB-2022-0200: 1: Dwayne

Quinn

INTERVENOR NAME

Quinn, Dwayne; +1 (519)

500-1022

drquinn@rogers.com

PARTICIPANT CLAIM STATUS

Submitted

FILING PARTICIPANT

Quinn, Dwayne; +1 (519) 500-1022

drquinn@rogers.com

NEW

PARTICIPANT

NON-FILING

PARTICIPANT F. NAME

NON-FILING

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE*

Consultant

YEAR CALLED TO BAR*

PRACTICING/YEARS OF **RELEVANT EXPERIENCE***

36

COMPLETED YEARS

HST RATE CHARGED*

13.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Provided within Previous

24 Months

LAST CV DATE

February 18, 2022

OVERRIDE HOURLY RATE

HOURLY RATE

330

No

HST NUMBER

82029 2415 RT 0001

HEARINGS

Yes

CONSULTATIONS

No

DISBURSEMENTS

Yes

HEARINGS

Hearings Hours 530.50

Hearings Subtotal (\$) 175,065.00

Hearings Total Tax (\$) 22,758.45

Hearings Total (\$) 197,823.45

Nama	Uarre	Lla contro	Sub Total	цет	цет	Total
<u>Name</u>	<u>Hours</u>	Hourly Rate	<u>Sub Total</u>	<u>HST</u> Rate	<u>HST</u>	<u>Total</u>
REVIEW APPLICATION AND EVIDENCE Review Application and Evidence	97.00	330	32,010.00	13.00	4,161.30	36,171.30
DISCOVERY Preparation of Interrogatories	89.00	330	29,370.00	13.00	3,818.10	33,188.10
Review Interrogatory Responses	28.50	330	9,405.00	13.00	1,222.65	10,627.65
Technical Conference Preparation	40.50	330	13,365.00	13.00	1,737.45	15,102.45
Technical Conference Attendance	62.00	330	20,460.00	13.00	2,659.80	23,119.80
Technical Conference Follow Up	9.00	330	2,970.00	13.00	386.10	3,356.10
ISSUES LIST Preparation	25.50	330	8,415.00	13.00	1,093.95	9,508.95
Attendance at Issues Conference	6.50	330	2,145.00	13.00	278.85	2,423.85
INTERVENOR EVIDENCE Preparation	3.50	330	1,155.00	13.00	150.15	1,305.15
Interrogatory Responses	3.00	330	990.00	13.00	128.70	1,118.70
Preparation of Witness(es) for Attendance at Hearing SETTELEMENT CONFERENCE / ADR		330		13.00		
Preparation	57.50	330	18,975.00	13.00	2,466.75	21,441.75
Attendance	69.50	330	22,935.00	13.00	2,981.55	25,916.55

<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Preparation of Settlement Proposal	10.00	330	3,300.00	13.00	429.00	3,729.00
Attendance at Presentation to Panel		330		13.00		
ORAL HEARING Preparation	2.00	330	660.00	13.00	85.80	745.80
Attendance at Oral Hearing		330		13.00		
SUBMISSIONS Written Submissions		330		13.00		
Oral Submissions		330		13.00		
Attendance at Oral Submissions		330		13.00		
OTHER ATTENDANCE Other Attendance		330		13.00		
COMMUNICATION With Client		330		13.00		
With Other Parties	22.00	330	7,260.00	13.00	943.80	8,203.80
MOTIONS Preparation of Motion(s) Materials	2.50	330	825.00	13.00	107.25	932.25
Prepare Submissions on the Motion(s)		330		13.00		
Attendance at Hearing on Motion(s)	2.50	330	825.00	13.00	107.25	932.25
CONFIDENTIALITY Preparation of Application for Confidentiality		330		13.00		
Prepare Submissions on Confidentiality		330		13.00		
Attendance at Hearing on Confidentiality		330		13.00		
DECISION Review		330		13.00		
RATE ORDER Review		330		13.00		
Prepare Submission on Rate Order		330		13.00		
TOTAL SERVICE PROVIDER FEES Total Service Provider Fees:	530.50		175,065.00		22,758.45	197,823.45

Attachments

<u>Attachment</u> <u>Document Type</u> <u>Import Message</u>

DRQ_FRPO_INV_EGI 2024 REB Invoice

INTERIM_20230711.pdf

TIME SHEET 20230710 EGI REB.pdf Time Docket

DISBURSEMENTS

Disbursement Subtotal(\$) 24,420.00 Disbursement Total Tax(\$) 3,174.60 Other Taxes/Tips
Total(\$)
0.00

Disbursement Total(\$) 27,594.60

<u>Name</u>	ATT. REQ'D	ATT. PROV	<u>Qty</u>	<u>\$/</u> <u>Unit</u>	<u>Net</u> <u>Cost</u>	HST Rate	<u>HST</u>	Other Taxes/Tip	<u>Total</u>	Rationale/ Comment
Scanning/Photocopy (Internal)						13.00				
Scanning/Photocopy (External)						13.00				
Printing (Internal)						13.00				
Printing (External)						13.00				
Courier						13.00				
Teleconference						13.00				
Travel: Air						13.00				
Travel: Car Rental						13.00				
Travel: Gas						13.00				
Travel: Car Mileage – Southern Ontario				0.40						
Travel: Car Mileage –				0.41						
Northern Ontario Travel: Rail						13.00				
Travel (Other)						13.00				
Parking						13.00				
Taxi						13.00				
Accommodation						13.00				
Other	Yes	Yes	74.00	330.00	,420.00	13.00	174.60		27,594.60	PREPARATI ON OF EXPERT EVIDENCE AND RESPONDIN G INTERROGA
Total Disbursements:					,420.00		174.60	0.00	27,594.60	TORIES

Attachments

Attachment

Rosenkranz Invoice 1 (EB-2022-0200)_1.pdf

Import Message

PREPARATION OF EXPERT EVIDENCE AND RESPONDING INTERROGATORIES

Hearings, Consultations, Disbursements Attachments

Attachment
DRQ_FRPO_INV_EGI 2024 REB
INTERIM_20230711.pdf
TIME SHEET 20230710 EGI REB.pdf

Rosenkranz Invoice 1 (EB-2022-0200)_1.pdf

Document Type

Invoice

Time Docket

Claim Type

Hearings

Hearings

Disbursements

PREPARATION OF

Import Message

EXPERT EVIDENCE AND RESPONDING INTERROGATORIES

Customer	RefNumbei Item	Service Date	Description	Quantity TC
FEDERATION OF REN' FEDERATION OF REN'			REVIEW PAST OEB DIRECTIVES, UNRESOLVED ISSUES ATTEND INTERVENOR PREPARATION CALL	2.5 1.5
FEDERATION OF REN			REVIEW/SKIM EXHIBIT 1	1
FEDERATION OF REN			REVIEW PORTIONS OF EXHIBIT 1 AND 4, ATTEND INTERVENOR CALL	2.5
FEDERATION OF REN		11/2/2022	REVIEW EXHIBIT 4, ID ISSUES FURTHER REVIEW OF EXHIBITS 1 & 4 ID ISSUES, CONSIDER EXPERT ENGAGEMENT	2
FEDERATION OF REN		11/8/2022	REVIEW PAST OEB DIRECTIVES, DECISIONS AND CONTEXT RELATED TO EVIDENCE	2.5
			CROSS REFERENCE DIRECTIVES TO DRAFT ISSUES, ENGAGE INDUSTRY EXPERTS IN CONSIDERATION OF	
FEDERATION OF REN		11/9/2022	INVOLVEMENT MEETING W/STAFF (2.5)	2.5
FEDERATION OF REN			REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS	2.5
		44/45/2022		2.5
FEDERATION OF REN	276 Consulting:Cons - OEB	11/15/2022	REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS, SUMMARIZE PAST ISSUES FOR INTERVENORS COMPILE GAS SUPPLY, S&T ISSUES WITH EXPLANATION FOR INTERVENORS, REVIEW PAST EVIDENTIARY	3.5
FEDERATION OF REN		11/18/2022	RECORDS	2.5
FEDERATION OF REN		11/19/2022	PROVIDE S&T ISSUES TO INTERVENORS REVIEW EXHIBIT #4, ID ISSUES	1.5
FEDERATION OF REN			REVIEW EXHIBIT #4, ID ISSUES, REVIEW PAST PROCEEDINGS	2
FEDERATION OF REN	276 Consulting:Cons - OEB	11/25/2022		2.5
FEDERATION OF REN		11/26/2022 11/28/2022		2
FEDERATION OF REN			REVIEW EXHIBIT 7/8 COVER, CONSULT WITH PROSPECTIVE EXPERT	1.5
FEDERATION OF REN	276 Consulting:Cons - OEB	12/1/2022	REVIEW INTERVENOR ISSUES LISTS, ATTEND INTERVENOR MEETING, FOLLOW-UP	4
FEDERATION OF REN' FEDERATION OF REN'			REVIEW EX#7, #8 OVERVIEW AND SPECIFIC REFERENCES, SUBMIT INTERVENTION REVIEW EX#1, UPDATE INTERVENORS ON ISSUES/EXPERTS	4.5
FEDERATION OF REN			REVIEW EX#2, OF DATE INVENTED ON 1555ES/EXPENTS	3
FEDERATION OF REN			REVIEW EX #2, ID ISSUES	1.5
FEDERATION OF REN			REVIEW EX #2, ID ISSUES, CORRELATE TO OTHER EVIDENCE REVIEW EX #2, ID ISSUES, CORRELATE TO PAST PROCEEDINGS EVIDENCE	3.5
FEDERATION OF REN			REFINE S&T ISSUES, PREP FOR & CALL W/INTERVENORS, REVIEW DRAFT ISSUES LIST	3.3
		43/20/	CONCIDED DIVIDENTIARY DECLIDENTATE CONTRACTOR OF THE PROPERTY	
FEDERATION OF REN	276 Consulting:Cons - OEB	12/20/2022	CONSIDER EVIDENTIARY REQUIREMENTS, SUMMARIZE IDEAS TO DISCUSS W/ POTENTIAL EXPERT, EMAIL REVIEW EX#4, ID ISSUES IN CONTEXT OF GAS SUPPLY & STORAGE ALTERNATIVES, CALL WITH STAFF	1.5
FEDERATION OF REN	276 Consulting:Cons - OEB	12/22/2022	REGARDING ISSUES LIST CHALLENGE	3.5
			DEVELOP SUMMARY OF LOAD BALANCING ALTERNATIVE, PROVIDE SUMMARY OF CONCEPT TO	
FEDERATION OF REN' FEDERATION OF REN'		12/23/2022	INTERVENORS REVIEW EX 1/4, EMAIL INTERVENORS WITH CLARIFICATIONS ON LOAD BALANCING ALTERNATIVE	2.5
FEDERATION OF REN	276 Consulting:Cons - OEB	12/28/2022	CALL W/POTENTIAL EXPERT, REFINE SCOPE OF EVIDENCE, REVIEW EX#4	3
FEDERATION OF REN		12/30/2022		2
FEDERATION OF REN' FEDERATION OF REN'		12/31/2022		3.5
FEDERATION OF REN		1/3/2023	REV EX#2 - AMP, PREP FOR MEETING W/INTERVENOR	4.5
FEDERATION OF REN		1/4/2023	REV EX#3- UDPATE ISSUES LIST FOR INTERVENOR MEETING, MEET W/SEC OVERVIEW EX#6, ADDITIONAL EX#4, REVIEW NORTH SIDE EVIDENCE PROPOSAL	2.5
FEDERATION OF REN		1/6/2023	OVERVIEW EX#0, ADDITIONAL EX#4, REVIEW NORTH SIDE EVIDENCE PROPOSAL OVERVIEW EX#7 - PREP FOR ISSUES CONFERENCE	4
FEDERATION OF REN		1/7/2023	OVERVIEW EX#8 REVIEW - PREP FOR ISSUES CONFERENCE	2.5
FEDERATION OF REN		1/9/2023		6.5
FEDERATION OF REN	276 Consulting:Cons - OEB	1/10/2023	REVIEW STAFF ISSUES DOCUMENT, PROVIDE NORTHSIDE FEEDBACK	2.5
FEDERATION OF REN	276 Consulting:Cons - OEB	1/16/2023		3.5
FEDERATION OF REN		1/17/2023	REVIEW PARTIES SUBMISSIONS ON EXPERT EVIDENCE, ISSUES LIST REVIEW EX#3, ID ISSUES	3
FEDERATION OF REN' FEDERATION OF REN'			EX #4 DRAFT IR's, REVIEW EB-2011-0210	4.5
FEDERATION OF REN	276 Consulting:Cons - OEB	1/20/2023		1.5
FEDERATION OF REN	276 Consulting:Cons - OEB	1/21/2023	EX #4 DRAFT IR's, REVIEW EB-2022-0086 EX#3 DRAFT IR's, REVIEW HEAT VALUE HISTORY, CONTACT TC ENERGY, REVIEW & RESPOND INTERVENOR	2.5
FEDERATION OF REN	276 Consulting:Cons - OEB	1/23/2023		5
FEDERATION OF REN	276 Consulting:Cons - OEB	1/24/2023		2
FEDERATION OF REN' FEDERATION OF REN'			EX#4 DRAFT IR'S EX#4, EX#7, EX#8 ID ISSUES, DRAFT IR'S	3 6
FEDERATION OF REN			EX#3, EX#4, EX#7, EX#8 ID ISSUES, DRAFT IR's	3.5
FEDERATION OF REN		1/28/2023		2
FEDERATION OF REN' FEDERATION OF REN'		1/30/2023		5.5
FEDERATION OF REN	276 Consulting:Cons - OEB	2/1/2023	EX#4 DRAFT IR's, INTERVENOR COMMUNICATION	4
FEDERATION OF REN	276 Consulting:Cons - OEB	2/2/2023	EX#4 DRAFT IR's, REVIEW LINKS TO OTHER EXHIBITS, PAST EVIDENCE CALL W/J. ROSENKRANZ(1.0), REVIEW AREAS OF ASSESSMENT, PROVIDE FEEDBACK, PROVIDE LOAD	4.5
FEDERATION OF REN	276 Consulting:Cons - OEB	2/3/2023		1.5
FEDERATION OF REN	276 Consulting:Cons - OEB	2/4/2023	REVIEW EX#7, ID ISSUES, DRAFT IR's	4
FEDERATION OF REN			DRAFT IR's, REVIEW PREVIOUS PROCEEDINGS, RESEARCH	6.5
FEDERATION OF REN'			DRAFT IR'S, REVIEW PREVIOUS PROCEEDINGS DRAFT IR'S, REVIEW PREVIOUS PROCEEDINGS, ANALYZE HEAT VALUE	5 8.5
FEDERATION OF REN	276 Consulting:Cons - OEB	2/9/2023	REVIEW INTERVENOR IR'S, DRAFT IR'S, REVIEW JR IR'S, PROVIDE FEEDBACK	7.5
FEDERATION OF REN	276 Consulting:Cons - OEB	2/10/2023	RECEIVE FEEDBACK ON IR'S, DRAFT IR'S, INCORPORATE, REFINE,	6
FEDERATION OF REN	276 Consulting:Cons - OEB	2/15/2023	EXCHANGE OF EMAILS ON DESIGN ASPECTS INCLUDING PEAK TEMPERATURE AND CHOICE OF BASELINE	0.5
FEDERATION OF REN	276 Consulting:Cons - OEB	2/16/2022	REVIEW INTERVENOR RESPONSE ON BASE LINE, CLARIFY STORAGE, REPLY TO EXPERT ON PDO	1
FEDERATION OF REN			PROVIDE INTERVENORS THOUGHTS ON REMOVING EMPRESS AS DIRECT PURCHASE OPTION PREPARE ISSUES SUMMARY TO SORT IRR'S, PROVIDE GAS SUPPLY PRICE BACKGROUND TO STAFF	0.5
FEDERATION OF REN	276 Consulting:Cons - OEB	3/7/2022	FURTHER PREP, ANALYZE 15 VS 18 HDD	3.5
FEDERATION OF REN	276 Consulting:Cons - OEB	3/9/2023		7.5
FEDERATION OF REN' FEDERATION OF REN'		3/10/2023 3/11/2023	REVIEW FRPO IRR'S, PULL EVID REFERENCES, CROSS REFERENCE W/PAST PROCEEDINGS REVIEW FRPO IRR'S, PULL EVID REFERENCES, CROSS REFERENCE W/PAST PROCEEDINGS	4.5
FEDERATION OF REN		3/12/2023		1.5
FEDERATION OF REN	276 Consulting:Cons - OEB	3/13/2023	REVIEW FRPO IRR'S, GENERATE PRIORITY LIST FOR TECH CONF, GENERATE PRIORITY LIST FOR TECH CONF	6
LEDERATION OF KEN	270 Consulting:Cons - OEB	3/13/2023	CONTACT W/JOHN R, REVIEW FRPO IRR'S, INTERVENORS, GENERATE PRIORITY LIST FOR TECH CONF, DRAFT	U
FEDERATION OF REN	276 Consulting:Cons - OEB	3/14/2023		9.5
FEDERATION OF REN	276 Consulting:Cons - OEB	3/15/2023	CORRELATE ISSUES WITH PANELS, ESTIMATE TOPICS INDIVIDUALLY, ELIMINATE SOME TOPICS, REDUCE OVERALL ESTIMATE	4.5
FEDERATION OF REN		3/16/2023	FURTHER ANALYSIS ON HEAT VALUE, CUSTOMER ATTACHMENTS, PREPARE FOR TECH CONF	4
FEDERATION OF REN	276 Consulting:Cons - OEB	3/18/2023	REVIEW OTHER PARTIES IRR's, PREPARE FOR TECH CONF	3.5
FEDERATION OF REN	276 Consulting:Cons - OEB	3/20/2023	PREPARE TECH CONF QUESTIONS, HEAT VALUE/UFG ANALYSIS, CUSTOMER CONNECTION COST FOR EXPANSION PROJECTS	4
			PREPARE TECH CONF QUESTIONS, HEAT VALUE/UFG ANALYSIS, CUSTOMER CONNECTION COST FOR	
FEDERATION OF REN			EXPANSION PROJECTS, PREPARE COMPENDIUM, PLAN FOR FUTURE PANELS	5
FEDERATION OF REN	276 Consulting:Cons - OEB	3/22/2023	ATTEND TECH CONF, PREPARE FOLLOW-UP TO PANEL 1 QUESTIONS, REVIEW TRANSCRIPT (7+1) REVIEW PERTINENT REVISED TRANSCRIPT, FINALIZE LETTER OF FOLLOW-UP, ATTEND TECH CONF, REVISE	8
FEDERATION OF REN		3/23/2023	COMPENDIUM TO INCLUDE ATTACHMENT COSTS PER CUSTOMER (7+1)	8
FEDERATION OF REN		3/24/2023		7
FEDERATION OF REN			REVIEW IRR'S TO OTHER PARTIES, PREP FOR DAY 4 ATTEND TECH CONF, REVIEW IRR'S, PREPARE FOR QUESTIONING (7+2.5)	2.5 9.5
FEDERATION OF REN	276 Consulting:Cons - OEB	3/28/2023	ATTEND TECH CONF, REVIEW IRR's, PREPARE FOR QUESTIONING (7+3)	10
FEDERATION OF REN	276 Consulting:Cons - OEB	3/29/2023	ATTEND TECH CONF, REVIEW IRR's, PREPARE FOR QUESTIONING (7+1) ATTEND TECH CONF, REVIEW IRR's, REVIEW HISTORY ON CAPITAL CONTINUITY, REVIEW EVIDENCE,	8
FEDERATION OF REN	276 Consulting:Cons - OEB	3/30/2023	PREPARE FOR QUESTIONING (7+1.5)	8.5
FEDERATION OF REN	276 Consulting:Cons - OEB	3/31/2023	ATTEND TECH CONF (4.5-0.5 OPI)	4
FEDERATION OF REN	276 Consulting:Cons - OEB	4/4/2023	PREPARE NOTES ON FOLLOW-UP ISSUES	2

Review Application		
and Evidence	Review Application and Evidence	97
Discovery	Prepare IRs	89
	Review IR Responses	28.5
	TC Prep	40.5
	TC Attend	62
	TC Follow up	9
Issues	ISSUES Preparation	25.5
List		
	Attend Conference	6.5
Intervenor Evidence	Prep	3.5
	IR Responses	3
	Witness Prep for Hearing	
Settlement		
Conference	Conference Prep	57.5
/ADR	Conference Attend	69.5
	Prepare Settlement Proposal	10
	Attend Presentation to Panel	
Oral Hearing	Hearing Prep	2
	Attend Hearing	
Submissions	Write Submissions	
	Oral Submissions	
	Attendance at Oral Submissions	
Other Attendance	Other Attendance	
Communication	With Client	
	With Other Parties	22
Motions	Materials Prep	2.5
	Submissions Prep	
	Attend Hearing	2.5
Confidentiality	Prepare Application	
	Prepare Submissions	
	Attend Hearing	
Decision	Review	
Rate Order	Review	[
	Prepare Submission	[

2.5 2.5 3.5 2.5 0.5	4/10/2023 REVIEW ANCILLIARY ISSUES, EMAIL EXCHANGE WITH INTERVENOR ON SCOPE		DERATION OF REN
2.5 3.5 2.5		IN OF PENT 276 Consulti	
3.5 2.5			ERATION OF REN
2.5		N OF REN 276 Consulti	ERATION OF REN
2.5	ATTEND MOTION HEARING, INTERVENOR COMMUNICATION, REVIEW INITIAL DP EVID DRAFT(1), REQUEST 3 4/13/2023 TO STAFF	N OF REN 276 Consulti	ERATION OF RENT
1	4/13/2023 10 STATE	NA OL KEIAL 270 CONSULT	ENATION OF REN
	3 4/14/2023 CALL W/JR (0.5), REVIEW UNDERTAKINGS	N OF REN1 276 Consulti	DERATION OF RENT
0.1		N OF REN 276 Consulti	DERATION OF RENT
		N OF REN 276 Consulti	DERATION OF RENT
	FINALIZE DP EVID & SUBMIT(0.5), REVIEW EXEC. SUMMARIES OF INTERVENOR EVID, EMAILS W/		
3.5	4/21/2023 INTERVENORS, STAFF		DERATION OF RENT
			DERATION OF RENT
1.5			DERATION OF RENT
2.5			DERATION OF RENT
7.5			DERATION OF RENT
,	4/21/2023 ATTEND TEST CONT (U.S.), NETTEN TITENDROOF DEFICE/ATTON EVIDENCE	270 0013411	LIGHTION OF MEN
	REVIEW EMRYDIA DEPRECIATION EVIDENCE, NOTE DIFFERENCES WITH INTERGROUP, REVIEW CONCENTRIC		
		N OF REN 276 Consulti	ERATION OF RENT
1			ERATION OF RENT
3			ERATION OF RENT
2.5	5/12/2023 REVIEW IRR's IN CONJUNCTION WITH UNDERTAKINGS, FINAL REVIEW OF ROSENKRANZ EVIDENCE(1)	N OF REN1 276 Consulti	ERATION OF RENT
	5/16/2023 REVIEW HOPKINS EVIDENCE, DETERMINE NO IRR'S, INTERVENOR COMMUNICATION	N OF REN1 276 Consulti	ERATION OF REN
2.5	5/17/2023 REVIEW RECORD TO START PREP FOR SETTLEMENT CONFERENCE	N OF REN 276 Consulti	ERATION OF REN
		N OF REN 276 Consulti	DERATION OF RENT
	REVIEW RECORD FOR FRPO ISSUES ORGANIZATION, REVIEW UPDATED UNDERTAKINGS, MULTIPLE RATE		
3.5			ERATION OF RENT
	5/21/2023 PREP FOR INTERVENOR MEETING, REVIEW UNDERTAKINGS	ON OF REN1 276 Consulti	ERATION OF RENT
	PREP FOR INTERVENOR MEETING, REVIEW UNDERTAKINGS, PREPARE GAS SUPPLY ANALYSIS FOR LOAD		
			DERATION OF RENT
	S/23/2023 ATTEND INTERVENORSE TREEVIEW CONT THE TIME ET INC & TOLLOW-OF	NO OF REIN 276 CONSULT	ERATION OF REIN
	5/24/2023 PREP FOR SETTLEMENT CONFERENCE, ZOOM CALL W/MR, DRAFT & SUBMIT ADVANCED QUESTIONS TO EGI	ON OF REN 276 Consulti	ERATION OF REN
5.0			DERATION OF RENT
	9,-9,-1-1	270 0013411	LIBITION OF REIN
	5/26/2023 PREP FOR SETTLEMENT CONFERENCE, PREP SUMMARY PROPOSALS, COMMUNICATION W/INTERVENORS	N OF REN 276 Consulti	DERATION OF RENT
5.5		N OF REN 276 Consulti	DERATION OF RENT
4		N OF REN 276 Consulti	DERATION OF RENT
	ATTEND SETTLEMENT CONF (7.5), REVIEW EGI RESPONSES TO FRPO, ED, REVIEW UNDERTAKINGS ON		
9		N OF REN 276 Consulti	DERATION OF RENT
	ATTEND SETTLEMENT CONF (7), REVIEW EGI RESPONSES TO FRPO, REVIEW UNDERTAKINGS ON ISSUES		
10		ON OF REN1 276 Consulti	DERATION OF RENT
0.1	ATTEND SETTLEMENT CONF(7.5), REVIEW UNDERTAKINGS, PREPARE WORDING, EMAIL EXCHANGES WITH 5/31/2023 INTERVENORS ON PROPOSAL	N OF DEN! 276 C	DERATION OF RENT
9.5	ATTEND SETTLEMENT CONF (7.5), REVIEW EGI RESPONSES TO FRPO, REVIEW UNDERTAKINGS ON ISSUES	ON OF REN1 276 Consulti	DEKATION OF KEN
9.5		ON OF REN 276 Consulti	DERATION OF RENT
5			DERATION OF RENT
1.5			ERATION OF RENT
1.5			ERATION OF REN
	ATTEND SETTLEMENT CONFERENCE (7), REVIEW DEVELOPMENT OF STORAGE ISSUES & DETAIL, COST	2.2 201341	
9.5		N OF REN1 276 Consulti	DERATION OF RENT
	ATTEND SETTLEMENT CONFERENCE (4.5), ADDRESS INTERVENOR CONCERNS REGARDING STORAGE &		
(ERATION OF REN
ţ	6/7/2023 ATTEND SETTLEMENT CONFERENCE (4.5), EVALUATE ISSUE SPLIT LOGISTICALLY	N OF REN1 276 Consulti	ERATION OF RENT
	ATTEND SETTLEMENT CONFERENCE (4), REVIEW OUTSTANDING ISSUES, EMAILS W/INTERVENORS ON		
5.5			ERATION OF REN
8			ERATION OF RENT
			ERATION OF RENT
0.9			ERATION OF RENT
			DERATION OF RENT
0.9			DERATION OF RENT
0.5	0/1//2023 INTERVENOR COMMUNICATION ON OWN	ON OF REN 276 Consulti	ENATION OF KEN
	6/18/2023 REVIEW DRAFT SETTLEMENT AGREEMENT, REVIEW RECORD, SETTLEMENT CONF NOTES, PROVIDE EDITS	N OF REN 276 Consulti	ERATION OF RENT
-			ERATION OF REN
2.5			ERATION OF RENT
1.5			ERATION OF REN
1.5	6/25/2023 REVIEW REVISION 2 OF DRAFT SETTLEMENT AGREEMENT, ACCOUNTING ORDERS, SUBMIT COMMENTS	N OF REN1 276 Consulti	DERATION OF RENT
			DERATION OF RENT
:	6/28/2023 CONSIDERATION OF INTERVENOR FEEDBACK, REVIEW NOTES, FINAL REVIEW & SIGN OFF	N OF REN1 276 Consulti	DERATION OF RENT
530.5			

(519) 500-1022

130 Muscovey Drive, Elmira, ON N3B 3P7

drquinn@rogers.com

Invoice

Date	Invoice #
7/11/2023	276

Invoice To

Federation of Rental-housing Providers ON 20 Upjohn Road, Suite 105 Toronto, ON M3B 2V9

> Terms Net 60

10/17/2022 ATTEND INTERVENOR PREPARATION CALL 1.5 330.00 495 10/31/2022 REVIEW/SKIM EXHIBIT 1 1 330.00 330 11/1/2022 REVIEW PORTIONS OF EXHIBIT 1 AND 4, ATTEND INTERVENOR CALL 2.5 330.00 825 11/2/2022 REVIEW EXHIBIT 4, ID ISSUES 2 330.00 660 11/3/2022 FURTHER REVIEW OF EXHIBITS 1 & 4 ID ISSUES, CONSIDER EXPERT ENGAGEMENT 3 330.00 990 11/8/2022 REVIEW PAST OEB DIRECTIVES, DECISIONS AND CONTEXT RELATED TO EVIDENCE 2.5 330.00 825 11/9/2022 CROSS REFERENCE DIRECTIVES TO DRAFT ISSUES, ENGAGE INDUSTRY EXPERTS IN CONSIDERATION OF INVOLVEMENT 4 330.00 1,320 11/10/2022 MEETING W/STAFF (2.5) 2.5 330.00 825 11/14/2022 REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS 2.5 330.00 825 11/15/2022 REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS 3.5 330.00 1,155 11/19/2022 COMPILE GAS SUPPLY, S&T ISSUES WITH EXPLANATION FOR INTERVENORS 1.5 330.00 495 11/19/2022 REVIEW EXHIBIT #4, ID ISSUES, REVIEW PAST PROCEEDINGS 2 330.00	Service Dates	Description	Qty	Rate	Amount
10/17/2022 ATTEND INTERVENOR PREPARATION CALL 1.5 330.00 495 10/31/2022 REVIEW/SKIM EXHIBIT 1 1 330.00 330 11/12/2022 REVIEW PORTIONS OF EXHIBIT 1 AND 4, ATTEND INTERVENOR CALL 2.5 330.00 825 11/2/2022 REVIEW EXHIBIT 4, ID ISSUES 2 330.00 660 11/3/2022 FURTHER REVIEW OF EXHIBITS 1 & 4 ID ISSUES, CONSIDER EXPERT 3 330.00 990 11/8/2022 REVIEW PAST OEB DIRECTIVES, DECISIONS AND CONTEXT RELATED 2.5 330.00 825 11/9/2022 CROSS REFERENCE DIRECTIVES TO DRAFT ISSUES, ENGAGE 4 330.00 1,320 11/10/2022 MEETING W/STAFF (2.5) 2.5 330.00 825 11/14/2022 REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS 2.5 330.00 825 11/15/2022 REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS 3.5 330.00 1,155 11/19/2022 COMPILE GAS SUPPLY, S&T ISSUES WITH EXPLANATION FOR INTERVENORS 1.5 330.00 825 11/19/2022 PROVIDE S&T ISSUES TO INTERVENORS 1.5 330.00 495 11/21/2022 REVIEW EXHIBIT #					
10/31/2022 REVIEW/SKIM EXHIBIT 1 1 330.00 330 11/1/2022 REVIEW PORTIONS OF EXHIBIT 1 AND 4, ATTEND INTERVENOR CALL 2.5 330.00 825 11/2/2022 REVIEW EXHIBIT 4, ID ISSUES 2 330.00 660 11/3/2022 FURTHER REVIEW OF EXHIBITS 1 & 4 ID ISSUES, CONSIDER EXPERT 3 330.00 990 11/8/2022 REVIEW PAST OEB DIRECTIVES, DECISIONS AND CONTEXT RELATED 2.5 330.00 825 11/9/2022 CROSS REFERENCE DIRECTIVES TO DRAFT ISSUES, ENGAGE 4 330.00 1,320 11/10/2022 MEETING W/STAFF (2.5) 2.5 330.00 825 11/14/2022 REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS 2.5 330.00 825 11/15/2022 REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS 3.5 330.00 825 11/18/2022 COMPILE GAS SUPPLY, S&T ISSUES WITH EXPLANATION FOR 2.5 330.00 825 11/19/2022 PROVIDE S&T ISSUES TO INTERVENORS 1.5 330.00 495 11/21/2/2022 REVIEW EXHIBIT #4, ID ISSUES, REVIEW PAST PROCEEDINGS 2 330.00 660 11/25/2022 REFINE S&T I	10/15/2022	REVIEW PAST OEB DIRECTIVES, UNRESOLVED ISSUES	2.5	330.00	825.00
11/1/2022 REVIEW PORTIONS OF EXHIBIT 1 AND 4, ATTEND INTERVENOR CALL 2.5 330.00 825 11/2/2022 REVIEW EXHIBIT 4, ID ISSUES 2 330.00 660 11/3/2022 FURTHER REVIEW OF EXHIBITS 1 & 4 ID ISSUES, CONSIDER EXPERT ENGAGEMENT 3 330.00 990 11/8/2022 REVIEW PAST OEB DIRECTIVES, DECISIONS AND CONTEXT RELATED TO EVIDENCE 2.5 330.00 825 11/9/2022 CROSS REFERENCE DIRECTIVES TO DRAFT ISSUES, ENGAGE INDUSTRY EXPERTS IN CONSIDERATION OF INVOLVEMENT 4 330.00 1,320 11/10/2022 MEETING W/STAFF (2.5) 2.5 330.00 825 11/14/2022 REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS 2.5 330.00 825 11/15/2022 REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS 3.5 330.00 825 11/18/2022 COMPILE GAS SUPPLY, S&T ISSUES WITH EXPLANATION FOR INTERVENORS 2.5 330.00 825 11/21/2022 PROVIDE S&T ISSUES TO INTERVENORS 1.5 330.00 495 11/22/2022 REVIEW EXHIBIT #4, ID ISSUES, REVIEW PAST PROCEEDINGS 2 330.00 660 11/25/2022 REFINE S&T ISSUES, RESEARCH EXPERT EVIDENCE 2.5	10/17/2022	ATTEND INTERVENOR PREPARATION CALL	1.5	330.00	495.00
11/2/2022 REVIEW EXHIBIT 4, ID ISSUES 2 330.00 660	10/31/2022	REVIEW/SKIM EXHIBIT 1	1	330.00	330.00
11/3/2022 FURTHER REVIEW OF EXHIBITS 1 & 4 ID ISSUES, CONSIDER EXPERT ENGAGEMENT 3 330.00 990 11/8/2022 REVIEW PAST OEB DIRECTIVES, DECISIONS AND CONTEXT RELATED TO EVIDENCE 2.5 330.00 825 11/9/2022 CROSS REFERENCE DIRECTIVES TO DRAFT ISSUES, ENGAGE INDUSTRY EXPERTS IN CONSIDERATION OF INVOLVEMENT 4 330.00 1,320 11/10/2022 MEETING W/STAFF (2.5) 2.5 330.00 825 11/14/2022 REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS 2.5 330.00 825 11/15/2022 REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS, SUMMARIZE PAST ISSUES FOR INTERVENORS 3.5 330.00 1,155 11/18/2022 COMPILE GAS SUPPLY, S&T ISSUES WITH EXPLANATION FOR INTERVENORS, REVIEW PAST EVIDENTIARY RECORDS 2.5 330.00 825 11/19/2022 PROVIDE S&T ISSUES TO INTERVENORS 1.5 330.00 495 11/21/2022 REVIEW EXHIBIT #4, ID ISSUES, REVIEW PAST PROCEEDINGS 2 330.00 495 11/25/2022 REFINE S&T ISSUES, RESEARCH EXPERT EVIDENCE 2.5 330.00 825 11/26/2022 REVIEW EX. #4 2 330.00 660 11/28/2022 SUMMARIZE EXPERT ISSUE,	11/1/2022	REVIEW PORTIONS OF EXHIBIT 1 AND 4, ATTEND INTERVENOR CALL	2.5	330.00	825.00
ENGAGEMENT REVIEW PAST OEB DIRECTIVES, DECISIONS AND CONTEXT RELATED TO EVIDENCE TO EVIDENCE CROSS REFERENCE DIRECTIVES TO DRAFT ISSUES, ENGAGE INDUSTRY EXPERTS IN CONSIDERATION OF INVOLVEMENT MEETING W/STAFF (2.5) 2.5 330.00 825 11/14/2022 REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS 2.5 330.00 825 11/15/2022 REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS 3.5 330.00 1,155 SUMMARIZE PAST ISSUES FOR INTERVENORS 2.5 330.00 825 11/18/2022 COMPILE GAS SUPPLY, S&T ISSUES WITH EXPLANATION FOR 2.5 330.00 825 11/19/2022 PROVIDE S&T ISSUES TO INTERVENORS 1.5 330.00 495 11/21/2022 REVIEW EXHIBIT #4, ID ISSUES REVIEW PAST PROCEEDINGS 2 330.00 660 11/25/2022 REVIEW EXHIBIT #4, ID ISSUES, REVIEW PAST PROCEEDINGS 2 330.00 825 11/26/2022 REFINE S&T ISSUES, RESEARCH EXPERT EVIDENCE 2.5 330.00 825 11/26/2022 REVIEW EX. #4 2 330.00 660 11/28/2022 SUMMARIZE EXPERT ISSUE, REVIEW PAST DECISIONS 1 330.00 330	11/2/2022	REVIEW EXHIBIT 4, ID ISSUES		330.00	660.00
TO EVIDENCE 11/9/2022 CROSS REFERENCE DIRECTIVES TO DRAFT ISSUES, ENGAGE INDUSTRY EXPERTS IN CONSIDERATION OF INVOLVEMENT 11/10/2022 MEETING W/STAFF (2.5) 11/14/2022 REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS 11/15/2022 REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS, SUMMARIZE PAST ISSUES FOR INTERVENORS 11/18/2022 COMPILE GAS SUPPLY, S&T ISSUES WITH EXPLANATION FOR INTERVENORS, REVIEW PAST EVIDENTIARY RECORDS 11/19/2022 PROVIDE S&T ISSUES TO INTERVENORS 11/19/2022 REVIEW EXHIBIT #4, ID ISSUES, REVIEW PAST PROCEEDINGS 11/21/2022 REVIEW EXHIBIT #4, ID ISSUES, REVIEW PAST PROCEEDINGS 11/25/2022 REFINE S&T ISSUES, RESEARCH EXPERT EVIDENCE 11/26/2022 REVIEW EX. #4 2 330.00 660 11/28/2022 SUMMARIZE EXPERT ISSUE, REVIEW PAST DECISIONS 1 330.00 330	11/3/2022	· · · · · · · · · · · · · · · · · · ·	3	330.00	990.00
INDUSTRY EXPERTS IN CONSIDERATION OF INVOLVEMENT 11/10/2022 MEETING W/STAFF (2.5) 2.5 330.00 825 11/14/2022 REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS 2.5 330.00 825 11/15/2022 REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS, SUMMARIZE PAST ISSUES FOR INTERVENORS 3.5 330.00 1,155 11/18/2022 COMPILE GAS SUPPLY, S&T ISSUES WITH EXPLANATION FOR INTERVENORS, REVIEW PAST EVIDENTIARY RECORDS 1.5 330.00 495 11/21/2022 REVIEW EXHIBIT #4, ID ISSUES 3 330.00 990 11/22/2022 REVIEW EXHIBIT #4, ID ISSUES, REVIEW PAST PROCEEDINGS 2 330.00 660 11/25/2022 REFINE S&T ISSUES, RESEARCH EXPERT EVIDENCE 2.5 330.00 825 11/26/2022 REVIEW EX. #4 2 330.00 660 11/28/2022 SUMMARIZE EXPERT ISSUE, REVIEW PAST DECISIONS 1 330.00 330	11/8/2022	l '	2.5	330.00	825.00
11/14/2022 REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS 2.5 330.00 825 11/15/2022 REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS, SUMMARIZE PAST ISSUES FOR INTERVENORS 3.5 330.00 1,155 11/18/2022 COMPILE GAS SUPPLY, S&T ISSUES WITH EXPLANATION FOR INTERVENORS, REVIEW PAST EVIDENTIARY RECORDS 2.5 330.00 825 11/19/2022 PROVIDE S&T ISSUES TO INTERVENORS 1.5 330.00 495 11/21/2022 REVIEW EXHIBIT #4, ID ISSUES 3 330.00 990 11/22/2022 REVIEW EXHIBIT #4, ID ISSUES, REVIEW PAST PROCEEDINGS 2 330.00 660 11/25/2022 REFINE S&T ISSUES, RESEARCH EXPERT EVIDENCE 2.5 330.00 825 11/26/2022 REVIEW EX. #4 2 330.00 660 11/28/2022 SUMMARIZE EXPERT ISSUE, REVIEW PAST DECISIONS 1 330.00 330	11/9/2022		4	330.00	1,320.00
11/15/2022 REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS, SUMMARIZE PAST ISSUES FOR INTERVENORS 3.5 330.00 1,155 11/18/2022 COMPILE GAS SUPPLY, S&T ISSUES WITH EXPLANATION FOR INTERVENORS, REVIEW PAST EVIDENTIARY RECORDS 2.5 330.00 825 11/19/2022 PROVIDE S&T ISSUES TO INTERVENORS 1.5 330.00 495 11/21/2022 REVIEW EXHIBIT #4, ID ISSUES 3 330.00 990 11/22/2022 REVIEW EXHIBIT #4, ID ISSUES, REVIEW PAST PROCEEDINGS 2 330.00 660 11/25/2022 REFINE S&T ISSUES, RESEARCH EXPERT EVIDENCE 2.5 330.00 825 11/26/2022 REVIEW EX. #4 2 330.00 660 11/28/2022 SUMMARIZE EXPERT ISSUE, REVIEW PAST DECISIONS 1 330.00 330	11/10/2022	MEETING W/STAFF (2.5)	2.5	330.00	825.00
SUMMARIZE PAST ISSUES FOR INTERVENORS COMPILE GAS SUPPLY, S&T ISSUES WITH EXPLANATION FOR INTERVENORS, REVIEW PAST EVIDENTIARY RECORDS 1.5 330.00 495 11/21/2022 REVIEW EXHIBIT #4, ID ISSUES 3 330.00 990 11/22/2022 REVIEW EXHIBIT #4, ID ISSUES, REVIEW PAST PROCEEDINGS 2 330.00 660 11/25/2022 REFINE S&T ISSUES, RESEARCH EXPERT EVIDENCE 2.5 330.00 825 11/26/2022 REVIEW EX. #4 2 330.00 660 11/28/2022 SUMMARIZE EXPERT ISSUE, REVIEW PAST DECISIONS 1 330.00 330 3	11/14/2022	REVIEW EXHIBITS 1 & 4, ID ISSUES, REVIEW PAST RECORDS	2.5	330.00	825.00
INTERVENORS, REVIEW PAST EVIDENTIARY RECORDS 1.5 330.00 495 1.	11/15/2022		3.5	330.00	1,155.00
11/21/2022 REVIEW EXHIBIT #4, ID ISSUES 3 330.00 990 11/22/2022 REVIEW EXHIBIT #4, ID ISSUES, REVIEW PAST PROCEEDINGS 2 330.00 660 11/25/2022 REFINE S&T ISSUES, RESEARCH EXPERT EVIDENCE 2.5 330.00 825 11/26/2022 REVIEW EX. #4 2 330.00 660 11/28/2022 SUMMARIZE EXPERT ISSUE, REVIEW PAST DECISIONS 1 330.00 330	11/18/2022		2.5	330.00	825.00
11/22/2022 REVIEW EXHIBIT #4, ID ISSUES, REVIEW PAST PROCEEDINGS 2 330.00 660 11/25/2022 REFINE S&T ISSUES, RESEARCH EXPERT EVIDENCE 2.5 330.00 825 11/26/2022 REVIEW EX. #4 2 330.00 660 11/28/2022 SUMMARIZE EXPERT ISSUE, REVIEW PAST DECISIONS 1 330.00 330	11/19/2022	PROVIDE S&T ISSUES TO INTERVENORS	1.5	330.00	495.00
11/25/2022 REFINE S&T ISSUES, RESEARCH EXPERT EVIDENCE 2.5 330.00 825 11/26/2022 REVIEW EX. #4 2 330.00 660 11/28/2022 SUMMARIZE EXPERT ISSUE, REVIEW PAST DECISIONS 1 330.00 330	11/21/2022	REVIEW EXHIBIT #4, ID ISSUES	3	330.00	990.00
11/26/2022 REVIEW EX. #4 2 330.00 660 11/28/2022 SUMMARIZE EXPERT ISSUE, REVIEW PAST DECISIONS 1 330.00 330	11/22/2022	REVIEW EXHIBIT #4, ID ISSUES, REVIEW PAST PROCEEDINGS	2	330.00	660.00
11/26/2022 REVIEW EX. #4 2 330.00 660 11/28/2022 SUMMARIZE EXPERT ISSUE, REVIEW PAST DECISIONS 1 330.00 330	11/25/2022		2.5	330.00	825.00
	11/26/2022		2	330.00	660.00
	11/28/2022	SUMMARIZE EXPERT ISSUE, REVIEW PAST DECISIONS	1	330.00	330.00
11/30/2022 REVIEW EXHIBIT 7/8 COVER, CONSULT WITH PROSPECTIVE EXPERT 1.5 330.00 495	11/30/2022	REVIEW EXHIBIT 7/8 COVER, CONSULT WITH PROSPECTIVE EXPERT	1.5	330.00	495.00

Total

GST/HST No. 820292415

130 Muscovey Drive, Elmira, ON N3B 3P7 (519) 500-1022

drquinn@rogers.com

T	•	
ln'	VOI	ce

Date	Invoice #
7/11/2023	276

Invoice To

Federation of Rental-housing Providers ON 20 Upjohn Road, Suite 105 Toronto, ON M3B 2V9

> Terms Net 60

Service Dates	Description	Qty	Rate	Amount
12/1/2022	REVIEW INTERVENOR ISSUES LISTS, ATTEND INTERVENOR MEETING,	4	330.00	1,320.00
	FOLLOW-UP			
12/2/2022	REVIEW EX#7, #8 OVERVIEW AND SPECIFIC REFERENCES, SUBMIT	3	330.00	990.00
	INTERVENTION			
12/3/2022	REVIEW EX#1, UPDATE INTERVENORS ON ISSUES/EXPERTS	4.5	330.00	1,485.00
12/8/2022	REVIEW EX #2, ID ISSUES	3	330.00	990.00
12/9/2022	REVIEW EX #2, ID ISSUES	1.5	330.00	495.00
12/10/2022	REVIEW EX #2, ID ISSUES, CORRELATE TO OTHER EVIDENCE	4	330.00	1,320.00
12/12/2022	REVIEW EX #2, ID ISSUES, CORRELATE TO PAST PROCEEDINGS	3.5	330.00	1,155.00
	EVIDENCE			
12/16/2022	REFINE S&T ISSUES, PREP FOR & CALL W/INTERVENORS, REVIEW	3	330.00	990.00
	DRAFT ISSUES LIST			
12/20/2022	CONSIDER EVIDENTIARY REQUIREMENTS, SUMMARIZE IDEAS TO	1.5	330.00	495.00
	DISCUSS W/ POTENTIAL EXPERT, EMAIL			
12/22/2022	REVIEW EX#4, ID ISSUES IN CONTEXT OF GAS SUPPLY & STORAGE	3.5	330.00	1,155.00
	ALTERNATIVES, CALL WITH STAFF REGARDING ISSUES LIST			
	CHALLENGE			
12/23/2022	DEVELOP SUMMARY OF LOAD BALANCING ALTERNATIVE, PROVIDE	4	330.00	1,320.00
	SUMMARY OF CONCEPT TO INTERVENORS			
12/27/2022	REVIEW EX 1/4, EMAIL INTERVENORS WITH CLARIFICATIONS ON	2.5	330.00	825.00
	LOAD BALANCING ALTERNATIVE			
12/28/2022	CALL W/POTENTIAL EXPERT, REFINE SCOPE OF EVIDENCE, REVIEW	3	330.00	990.00
	EX#4			
12/30/2022	REVIEW EX #7, RECONCILE WITH GAS SUPPLY EVIDENCE & QRAM,	2	330.00	660.00
	REVIEW EX#6			
12/31/2022	REVIEW EX#8, REVIEW INTERVENOR EMAILS. CONSIDER EVIDENCE	3.5	330.00	1,155.00
	FOR LOAD BALANCING			
1/2/2023	REV EX#2 - AMP	2	330.00	660.00

Total

GST/HST No.

Invoice

130 Muscovey Drive, Elmira, ON N3B 3P7 (519) 500-1022

drquinn@rogers.com

Date	Invoice #
7/11/2023	276

Invoice To

Federation of Rental-housing Providers ON 20 Upjohn Road, Suite 105 Toronto, ON M3B 2V9

Terms	
Net 60	

Service Dates	Description	Qty	Rate	Amount
1/3/2023	REV EX#2 - AMP, PREP FOR MEETING W/INTERVENOR	4.5	330.00	1,485.00
1/4/2023	REV EX#3- UPDATE ISSUES LIST FOR INTERVENOR MEETING, MEET	4	330.00	1,320.00
	W/SEC			
1/5/2023	OVERVIEW EX#6, ADDITIONAL EX#4, REVIEW NORTH SIDE EVIDENCE	2.5	330.00	825.00
	PROPOSAL			
1/6/2023	OVERVIEW EX#7 - PREP FOR ISSUES CONFERENCE	4	330.00	1,320.00
1/7/2023	OVERVIEW EX#8 REVIEW - PREP FOR ISSUES CONFERENCE	2.5	330.00	825.00
1/9/2023	ATTEND ISSUES CONFERENCE	6.5	330.00	2,145.00
1/10/2023	REVIEW STAFF ISSUES DOCUMENT, PROVIDE NORTHSIDE FEEDBACK	2.5	330.00	825.00
1/16/2023	PREPARE & SUBMIT ISSUES LIST COMMENTS, FINALIZE COVER &	3.5	330.00	1,155.00
	SUBMIT EXPERT EVIDENCE PROPOSALS			
1/17/2023	REVIEW PARTIES SUBMISSIONS ON EXPERT EVIDENCE, ISSUES LIST	1	330.00	330.00
1/18/2023	REVIEW EX#3, ID ISSUES	3	330.00	990.00
1/19/2023	EX #4 DRAFT IR's, REVIEW EB-2011-0210	4.5	330.00	1,485.00
1/20/2023	EX #4 DRAFT IR's, REVIEW EB-2022-0070	1.5	330.00	495.00
1/21/2023	EX #4 DRAFT IR's, REVIEW EB-2022-0086	2.5	330.00	825.00
1/23/2023	EX#3 DRAFT IR's, REVIEW HEAT VALUE HISTORY, CONTACT TC	5	330.00	1,650.00
	ENERGY, REVIEW & RESPOND INTERVENOR SUMMARY ON PDO			
1/24/2023	EX#1, EX#4 REVIEW, ID ISSUES	2	330.00	660.00
1/25/2023	EX#4 DRAFT IR's	3	330.00	990.00
1/26/2023	EX#4, EX#7, EX#8 ID ISSUES, DRAFT IR's	6	330.00	1,980.00
1/27/2023	EX#3, EX#4, EX#7, EX#8 ID ISSUES, DRAFT IR's	3.5	330.00	1,155.00
1/28/2023	EX#4 DRAFT IR's	2	330.00	660.00
1/30/2023	REVIEW EB-2013-0109, EX #3 & 4, DRAFT IR's, INTERVENOR	3	330.00	990.00
	COMMUNICATION			
1/31/2023	REVIEW EX#3, ANALYZE DATA, DRAFT IR's	5.5	330.00	1,815.00
2/1/2023	EX#4 DRAFT IR's, INTERVENOR COMMUNICATION	4	330.00	1,320.00

Total

GST/HST No. 820292415

130 Muscovey Drive,

(519) 500-1022

Elmira, ON N3B 3P7

drquinn@rogers.com

Invoice

Date	Invoice #
7/11/2023	276

Invoice To

Federation of Rental-housing Providers ON 20 Upjohn Road, Suite 105 Toronto, ON M3B 2V9

Terms	
Net 60	

Service Dates	Description	Qty	Rate	Amount
2/2/2023	EX#4 DRAFT IR's, REVIEW LINKS TO OTHER EXHIBITS, PAST	4.5	330.00	1,485.00
2/3/2023	EVIDENCE CALL W/J. ROSENKRANZ(1.0), REVIEW AREAS OF ASSESSMENT,	1.5	330.00	495.00
2/3/2023	PROVIDE FEEDBACK, PROVIDE LOAD BALANCING ALTERNATIVE TO	1.3	330.00	493.00
	STAKEHOLDER			
2/4/2023	REVIEW EX#7, ID ISSUES, DRAFT IR's	4	330.00	1,320.00
2/6/2023	DRAFT IR's, REVIEW PREVIOUS PROCEEDINGS, RESEARCH	6.5	330.00	2,145.00
2/7/2023	DRAFT IR's, REVIEW PREVIOUS PROCEEDINGS	5	330.00	1,650.00
2/8/2023	DRAFT IR's, REVIEW PREVIOUS PROCEEDINGS, ANALYZE HEAT	8.5	330.00	2,805.00
	VALUE			
2/9/2023	REVIEW INTERVENOR IR's, DRAFT IR's, REVIEW JR IR's, PROVIDE	7.5	330.00	2,475.00
	FEEDBACK			
2/10/2023	RECEIVE FEEDBACK ON IR's, DRAFT IR's, INCORPORATE, REFINE,	6	330.00	1,980.00
2/15/2023	EXCHANGE OF EMAILS ON DESIGN ASPECTS INCLUDING PEAK	0.5	330.00	165.00
	TEMPERATURE AND CHOICE OF BASELINE		•••	•••
2/16/2022	REVIEW INTERVENOR RESPONSE ON BASE LINE, CLARIFY STORAGE,	1	330.00	330.00
2/2/2022	REPLY TO EXPERT ON PDO	0.5	220.00	165.00
3/3/2023	PROVIDE INTERVENORS THOUGHTS ON REMOVING EMPRESS AS	0.5	330.00	165.00
3/6/2023	DIRECT PURCHASE OPTION	3	220.00	990.00
3/0/2023	PREPARE ISSUES SUMMARY TO SORT IRR's, PROVIDE GAS SUPPLY PRICE BACKGROUND TO STAFF	3	330.00	990.00
3/7/2022	FURTHER PREP, ANALYZE 15 VS 18 HDD	3.5	330.00	1,155.00
3/9/2023	REVIEW FRPO IRR's, PULL EVID REFERENCES, CROSS REFERENCE	7.5	330.00	2,475.00
31712023	W/PAST PROCEEDINGS	7.5	330.00	2,473.00
3/10/2023	REVIEW FRPO IRR's, PULL EVID REFERENCES, CROSS REFERENCE	4.5	330.00	1,485.00
5. 10. 202 5	W/PAST PROCEEDINGS		220.00	1,102.00
3/11/2023	REVIEW FRPO IRR's, PULL EVID REFERENCES, CROSS REFERENCE	2	330.00	660.00
	W/PAST PROCEEDINGS			
	l '		220.00	

Total

GST/HST No.

130 Muscovey Drive, Elmira, ON N3B 3P7

(519) 500-1022

drquinn@rogers.com

Invoice

Date	Invoice #
7/11/2023	276

Invoice To

Federation of Rental-housing Providers ON 20 Upjohn Road, Suite 105 Toronto, ON M3B 2V9

Terms	
Net 60	

3/12/2023		´ I	Rate	Amount
	REVIEW FRPO IRR's, PULL EVID REFERENCES, CROSS REFERENCE	1.5	330.00	495.00
	W/PAST PROCEEDINGS			
3/13/2023	REVIEW FRPO IRR's, GENERATE PRIORITY LIST FOR TECH CONF,	6	330.00	1,980.00
	GENERATE PRIORITY LIST FOR TECH CONF			
3/14/2023	CONTACT W/JOHN R, REVIEW FRPO IRR's, INTERVENORS, GENERATE	9.5	330.00	3,135.00
	PRIORITY LIST FOR TECH CONF, DRAFT QUESTIONS			
3/15/2023	CORRELATE ISSUES WITH PANELS, ESTIMATE TOPICS INDIVIDUALLY,	4.5	330.00	1,485.00
	ELIMINATE SOME TOPICS, REDUCE OVERALL ESTIMATE			
3/16/2023	FURTHER ANALYSIS ON HEAT VALUE, CUSTOMER ATTACHMENTS,	4	330.00	1,320.00
	PREPARE FOR TECH CONF			
3/18/2023	REVIEW OTHER PARTIES IRR's, PREPARE FOR TECH CONF	3.5	330.00	1,155.00
3/20/2023	PREPARE TECH CONF QUESTIONS, HEAT VALUE/UFG ANALYSIS,	4	330.00	1,320.00
	CUSTOMER CONNECTION COST FOR EXPANSION PROJECTS			
3/21/2023	PREPARE TECH CONF QUESTIONS, HEAT VALUE/UFG ANALYSIS,	5	330.00	1,650.00
	CUSTOMER CONNECTION COST FOR EXPANSION PROJECTS, PREPARE			
	COMPENDIUM, PLAN FOR FUTURE PANELS			
3/22/2023	ATTEND TECH CONF, PREPARE FOLLOW-UP TO PANEL 1 QUESTIONS,	8	330.00	2,640.00
	REVIEW TRANSCRIPT (7+1)			
3/23/2023	REVIEW PERTINENT REVISED TRANSCRIPT, FINALIZE LETTER OF	8	330.00	2,640.00
	FOLLOW-UP, ATTEND TECH CONF, REVISE COMPENDIUM TO INCLUDE			
	ATTACHMENT COSTS PER CUSTOMER (7+1)	_		
3/24/2023	ATTEND TECH CONF	7	330.00	2,310.00
3/25/2023	REVIEW IRR's TO OTHER PARTIES, PREP FOR DAY 4	2.5	330.00	825.00
3/27/2023	ATTEND TECH CONF, REVIEW IRR's, PREPARE FOR QUESTIONING	9.5	330.00	3,135.00
2 /2 2 /2 2 2	(7+2.5)		220.00	2 200 65
	ATTEND TECH CONF, REVIEW IRR's, PREPARE FOR QUESTIONING (7+3)	10	330.00	3,300.00
3/29/2023	ATTEND TECH CONF, REVIEW IRR's, PREPARE FOR QUESTIONING (7+1)	8	330.00	2,640.00

Total

GST/HST No.

130 Muscovey Drive, Elmira, ON N3B 3P7

(519) 500-1022

drquinn@rogers.com

Invoice

Date	Invoice #
7/11/2023	276

Invoice To

Federation of Rental-housing Providers ON 20 Upjohn Road, Suite 105 Toronto, ON M3B 2V9

Terms	
Net 60	

Service Dates	Description	Qty	Rate	Amount
3/30/2023	ATTEND TECH CONF, REVIEW IRR's, REVIEW HISTORY ON CAPITAL	8.5	330.00	2,805.00
	CONTINUITY, REVIEW EVIDENCE, PREPARE FOR QUESTIONING (7+1.5)			
3/31/2023	ATTEND TECH CONF (4.5-0.5 OPI)	4	330.00	1,320.00
4/4/2023	PREPARE NOTES ON FOLLOW-UP ISSUES	2	330.00	660.00
4/8/2023	REVIEW FRPO UNDERTAKINGS FOR REFUSALS, RESULTING MOTIONS	2.5	330.00	825.00
4/9/2023	ENHANCE ISSUE DEVELOPMENT	1	330.00	330.00
4/10/2023	REVIEW ANCILLARY ISSUES, EMAIL EXCHANGE WITH INTERVENOR	3	330.00	990.00
	ON SCOPE			
4/12/2023	REVIEW MOTIONS, UNDERTAKINGS, EVIDENCE, PREP FOR MOTION	2.5	330.00	825.00
	HEARING			
4/13/2023	ATTEND MOTION HEARING, INTERVENOR COMMUNICATION, REVIEW	3.5	330.00	1,155.00
	INITIAL DP EVID DRAFT(1), REQUEST TO STAFF			
4/14/2023	CALL W/JR (0.5), REVIEW UNDERTAKINGS	2.5	330.00	825.00
4/19/2023	REVIEW DP EVID, MAKE NOTES FOR CONSIDERATION OF CLARITY,	1	330.00	330.00
	RETURN TO JR(1)			
4/20/2023	CALL W/JR TO DISCERN ATTACHMENTS INCLUDING MAP(0.5)	0.5	330.00	165.00
4/21/2023	FINALIZE DP EVID & SUBMIT(0.5), REVIEW EXEC. SUMMARIES OF	3.5	330.00	1,155.00
	INTERVENOR EVID, EMAILS W/ INTERVENORS, STAFF			-
4/22/2023	REVIEW UNDERTAKINGS, ORGANIZE HIGH LEVEL ISSUES	2	330.00	660.00
4/24/2023	REVIEW REVISED EVIDENCE AND UNDERTAKINGS ON ENERGY	1.5	330.00	495.00
	TRANSITION, ADDITIONAL EVIDENCE			
4/25/2023	ENERGY TRANSITION PREP ON ISSUE OF RNG, PRODUCE ESTIMATE	2	330.00	660.00
	FOR TECH CONF			
4/26/2023	REVIEW ENERGY TRANSITION, SEEK CONCERNS OVER RNG	2.5	330.00	825.00
	AVAILABILITY, CALL W/ENV DEF			
4/27/2023	ATTEND TECH CONF (6.5), REVIEW INTERGROUP DEPRECIATION	7.5	330.00	2,475.00
,	EVIDENCE			_,

Total

GST/HST No.

130 Muscovey Drive, Elmira, ON N3B 3P7 (519) 500-1022

drquinn@rogers.com

Invoice

Date	Invoice #
7/11/2023	276

Invoice To

Federation of Rental-housing Providers ON 20 Upjohn Road, Suite 105 Toronto, ON M3B 2V9

Terms
Net 60

Service Dates	Description		Rate	Amount
4/28/2023	REVIEW EMRYDIA DEPRECIATION EVIDENCE, NOTE DIFFERENCES		330.00	990.00
	WITH INTERGROUP, REVIEW CONCENTRIC DEPRECIATION EVIDENCE,			
	DETERMINE NO IR's, RECEIVE IR's, REVIEW, COMMUNICATE WITH JR			
	(0.5)			
5/1/2023	REVIEW CONCENTRIC EVIDENCE, DEFER IR's FOR HOPKINS OPINION ON EVIDENCE	1	330.00	330.00
5/11/2023	REVIEW OF ROSENKRANZ IRR's, CALL W/JR(1.5), REVIEW NEW	3	330.00	990.00
	EVIDENCE SUMMARIES			
5/12/2023	REVIEW IRR's IN CONJUNCTION WITH UNDERTAKINGS, FINAL	2.5	330.00	825.00
	REVIEW OF ROSENKRANZ EVIDENCE(1)			
5/16/2023	REVIEW HOPKINS EVIDENCE, DETERMINE NO IRR's, INTERVENOR	2	330.00	660.00
	COMMUNICATION			
5/17/2023	REVIEW RECORD TO START PREP FOR SETTLEMENT CONFERENCE	2.5	330.00	825.00
5/18/2023	ACQUIRE MARKET PRICES FOR LOAD BALANCING ALTERNATIVE,		330.00	660.00
	REVIEW TRANSCRIPTS, UNDERTAKINGS			
5/19/2023	REVIEW RECORD FOR FRPO ISSUES ORGANIZATION, REVIEW	3.5	330.00	1,155.00
	UPDATED UNDERTAKINGS, MULTIPLE RATE ZONES			
5/21/2023	PREP FOR INTERVENOR MEETING, REVIEW UNDERTAKINGS	2	330.00	660.00
5/22/2023	23 PREP FOR INTERVENOR MEETING, REVIEW UNDERTAKINGS, PREPARE		330.00	1,980.00
	GAS SUPPLY ANALYSIS FOR LOAD BALANCING			
5/23/2023	ATTEND INTERVENOR SETTLEMENT CONF PREP MEETING &	3	330.00	990.00
	FOLLOW-UP			
5/24/2023	PREP FOR SETTLEMENT CONFERENCE, ZOOM CALL W/MR, DRAFT &	4	330.00	1,320.00
	SUBMIT ADVANCED QUESTIONS TO EGI			
5/25/2023	PREP FOR SETTLEMENT CONFERENCE, PREP SUMMARY PROPOSALS,	5.5	330.00	1,815.00
	COMMUNICATION W/MR			
5/26/2023	PREP FOR SETTLEMENT CONFERENCE, PREP SUMMARY PROPOSALS,	4	330.00	1,320.00
	COMMUNICATION W/INTERVENORS			

Total

GST/HST No. 820292415

130 Muscovey Drive, Elmira, ON N3B 3P7 (519) 500-1022

drquinn@rogers.com

Invoice

Date	Invoice #		
7/11/2023	276		

Invoice To

Federation of Rental-housing Providers ON 20 Upjohn Road, Suite 105 Toronto, ON M3B 2V9

Terms
Net 60

Service Dates	Description		Rate	Amount
5/27/2023	PREP FOR SETTLEMENT CONFERENCE, PREP SUMMARY PROPOSALS, COMMUNICATION W/INTERVENORS		330.00	1,815.00
5/28/2023	FINAL PREP, REVIEW OF OUTSTANDING UNDERTAKING ISSUES, ADVANCE QUESTIONS TO EGI	4	330.00	1,320.00
5/29/2023	ATTEND SETTLEMENT CONF (7.5), REVIEW EGI RESPONSES TO FRPO, ED, REVIEW UNDERTAKINGS ON ISSUES DISCUSSED BY INTERVENORS		330.00	2,970.00
5/30/2023				3,300.00
5/31/2023	ATTEND SETTLEMENT CONF(7.5), REVIEW UNDERTAKINGS, PREPARE WORDING, EMAIL EXCHANGES WITH INTERVENORS ON PROPOSAL			3,135.00
6/1/2023			330.00	3,135.00
6/2/2023	· · · · · · · · · · · · · · · · · · ·		330.00	2,640.00
6/3/2023	REVIEW STAFF-237, EVIDENCE BEFORE UPDATE	1.5	330.00	495.00
6/4/2023	PROVIDE RESPONSES TO INTERVENOR EMAILS, QUESTIONS, REVIEW RECORD		330.00	495.00
6/5/2023	ATTEND SETTLEMENT CONFERENCE (7), REVIEW DEVELOPMENT OF STORAGE ISSUES & DETAIL, COST ALLOCATION & RATEMAKING, INTERVENOR COMMUNICATION (2.5)		330.00	3,135.00
6/6/2023	ATTEND SETTLEMENT CONFERENCE (4.5), ADDRESS INTERVENOR CONCERNS REGARDING STORAGE & ELIMINATION OF DP-RELATED SERVICES (1.5)		330.00	1,980.00
6/7/2023			330.00	1,650.00

Total

GST/HST No.

130 Muscovey Drive, Elmira, ON N3B 3P7

(519) 500-1022

drquinn@rogers.com

Invoice

Date	Invoice #		
7/11/2023	276		

Invoice To

Federation of Rental-housing Providers ON 20 Upjohn Road, Suite 105 Toronto, ON M3B 2V9

Terms	
Net 60	

Service Dates	Description			Rate	Amount
6/8/2023	ATTEND SETTLEMENT CONFERENCE (4), REVIEW OUTSTANDING ISSUES, EMAILS W/INTERVENORS ON PENSION, SERVICES			330.00	1,815.00
6/9/2023	ELIMINATION, UFG ATTEND SETTLEMENT CONFERENCE (7.5), CLIENT COMMU	NICATION	8	330.00	2,640.00
6/12/2023	REVIEW LIST OF SETTLED ITEMS, ADVANCE EDITS TO THE		1	330.00	330.00
0/12/2023	EMAIL COMMUNICATION W/MR	GROOF,	1	330.00	330.00
6/13/2023	REVIEW REVISED LIST OF SETTLED, REVIEW NOTES FROM	OFFERS	0.5	330.00	165.00
0/13/2023	CONFIRM POSITION	orrent,	0.5	330.00	103.00
6/15/2023	REVIEW INTERVENOR CORRESPONDENCE ON O&M ISSUE,	REVIEW	1	330.00	330.00
	NOTES				
6/16/2023	ATTEND CONTINUED SETTLEMENT DISCUSSIONS		5	330.00	1,650.00
6/17/2023	INTERVENOR COMMUNICATION ON O&M		0.5	330.00	165.00
6/18/2023	REVIEW DRAFT SETTLEMENT AGREEMENT, REVIEW RECO	RD,	2	330.00	660.00
	SETTLEMENT CONF NOTES, PROVIDE EDITS				
6/19/2023	REVIEW EDITS, EMAILS WITH INTERVENORS		1	330.00	330.00
6/20/2023	REVIEW CAPITAL UPDATE, PAST PROCEEDINGS, EMAIL		2.5	330.00	825.00
	INTERVENORS				
6/22/2023	PREP FOR HEARING ON PDO OVER-RECOVERY		1.5	330.00	495.00
6/25/2023	REVIEW REVISION 2 OF DRAFT SETTLEMENT AGREEMENT,		1.5	330.00	495.00
	ACCOUNTING ORDERS, SUBMIT COMMENTS				
6/27/2023	REVIEW AND COMMENT TO INTERVENORS ON SETTLEMEN	ЛТ	1	330.00	330.00
	AGREEMENT (0.5), PREP FOR HEARING				
6/28/2023	CONSIDERATION OF INTERVENOR FEEDBACK, REVIEW NO	TES, FINAL	1	330.00	330.00
	REVIEW & SIGN OFF				
	EXPERT EVIDENCE ON DAWN PARKWAY CAPACITY RISKS				
6/28/2023	SERVICES OF ASSOCIATE CONSULTANT (JOHN ROSENKRAN	NZ)	74	330.00	24,420.00
	HST on Sales	,		13.00%	25,933.05
	<u> </u>				
		Total		•	\$225,418.05
		i Otal			,223,T10.03

GST/HST No.

INVOICE 7/5/2023

John A. Rosenkranz North Side Energy, LLC 56 Washington Drive Acton, MA 01720

Federation of Rental-housing Providers of Ontario c/o DR Quinn & Associates Ltd by e-mail

Project: Enbridge Gas 2024 Rates Proceeding (EB-2022-0200)

<u>Date</u>	<u>Hours</u>	
3-Feb-23	4.0	Review Enbridge application and prepare IRs
6-Feb-23	4.0	Review Enbridge application and prepare IRs
7-Feb-23	2.0	Review Enbridge application and prepare IRs
27-Mar-23	6.0	Written evidence on off-system contracts for Dawn Parkway capacity
28-Mar-23	6.0	Written evidence on off-system contracts for Dawn Parkway capacity
29-Mar-23	7.0	Written evidence on off-system contracts for Dawn Parkway capacity
30-Mar-23	2.0	Written evidence on off-system contracts for Dawn Parkway capacity
31-Mar-23	4.0	Written evidence on off-system contracts for Dawn Parkway capacity
5-Apr-23	6.0	Written evidence on off-system contracts for Dawn Parkway capacity
6-Apr-23	5.0	Written evidence on off-system contracts for Dawn Parkway capacity
7-Apr-23	1.5	Written evidence on off-system contracts for Dawn Parkway capacity
10-Apr-23	2.0	Written evidence on off-system contracts for Dawn Parkway capacity
11-Apr-23	5.5	Written evidence on off-system contracts for Dawn Parkway capacity
18-Apr-23	4.0	Written evidence on off-system contracts for Dawn Parkway capacity
20-Apr-23	2.0	Written evidence on off-system contracts for Dawn Parkway capacity
8-May-23	2.0	Respond to interrogatories
9-May-23	3.0	Respond to interrogatories
10-May-23	3.0	Respond to interrogatories
11-May-23	2.5	Respond to interrogatories
12-May-23	2.5	Respond to interrogatories

Hourly Rate

Consulting Fee	74.0	\$330.00	\$24,420.00
Travel Expenses			\$0.00
Total Project Cost	(Canadian	Dollars)	\$24,420.00